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BLOCK:
1. Why was Hitler’s idea to invade Russia a bad idea?
2. Fought in the skies over England, this was Hitler’s first major defeat of World War II.

3. This war, which occurred shortly before the outbreak of World War II, gave Hitler an opportunity to test Luftwaffe bombers against a defenseless civilian population.

4. What brought America in to World War II?
5. What was Hitler’s “Final Solution” for the Jews in Europe?

6.  This was the World War II alliance of France, England, Russia, and the United States. 

7.  This was the World War II alliance of Germany, Italy, and Japan.

8. German war planners developed this kind of “lightening war” to overcome the stalemate of trench warfare.  Hitler used this type of warfare to quickly conquer Poland, France, and five other countries.
